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CD 	ES-341 : TEACHING OF SCIENCE 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Define the term 'curriculum'. Explain the 
principles to be considered for construction of 
science curriculum. 

OR 

Discuss advantages, disadvantages and use of 
project method. 

2. Answer the following question in about 
600 words : 

Identify the main teaching points, formulate 
corresponding objectives and explain teaching-
learning process that you will follow while 
teaching any one of the following topic at 
secondary level. 

(a) Chemical Equilibrium 

(b) Conservation of Momentum 
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3. 	Write short notes on any four of the following in 
about 150 words each : 

(a) Enquiry Approach 

(b) Project method 

(c) Teaching aids in science teaching 

(d) Teaching of Allotropes of carbon 

(e) Teaching of Reflection of light 

(f) Teaching of 'Food chain' 

	

4. 	Answer the following question in about 
600 words : 

As a science teacher, you must have identified 
'Hard spots' in science. Mention at least three 
hard spots. What type of material (Remedial/ 
Enrichment) did you develop to teach these 'hard 
spots'. Describe in detail. 
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